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O g8 1. 53 €1t - 08.04

ABHE £y xH™ AMEMF F2HL) =3 Z1lf/cc) HE MY
# 1 BXZA -1 2442.640 0.0001 -
# 2 SExEA - 2 2464.760 0.0001 -
#3 EXdH -3 2474 .400 0.0001 -
# 4 EX|EA - 4 2468.160 0.0001 -
#5 e E flyde] L3 410,227 0.0002 -

2E s X4 E
# 6 SixA 20| HET 412,207 0.0008 -
'y oH I X A4E 000
shaal HolE wET el elfls
283 X A3E
# 8 SiAA 2017 HET 408.053 0.0006 -
49 284 X A3 000
SR HolE wET 118798 e
2E 2 X A2 E
#10 SIEAl 207 AT 412.207 0.0006 -
11 2493 X M2E
# Szl Ho|S urED 143.180 0.0008 -
2HM XA S
#12 s34 2017] HjED 408.053 0.0008 -
e o E X AHE —
sz Hlg waET 144.890 /0008
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O &8 1. 5% Z3t - 08.05

ARHE £d XE AZAM B FEHL) =3 Z2Hf/cc) dE M9
# 1 EX|HA -1 2481.880 0.0001 -
#2 EXHA -2 2464.960 0.0001 -
#3 EXEH - 3 2459.680 0.0001 -
#4 EXZA - 4 2476.560 0.0001 -
#5 XA 5 fl4gHe] o7 413.647 0.0002 -
46 ;ﬁﬁ?gﬁ% , 410.827 0.0006 -
#7 %éif‘}uf';;sg_ 4 409.947 0.0006 =
48 28 X[ ASE HIIE BHETF 412.760 0.0006 -
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OEd 1. 58 €3 - 08.08

AEMS &3 x|H A B F FE(L) £3 Z2H{/cc) HE Mo
#1 2X1EA - 1 2483.720 0.0001 -
# 2 SXZEA - 2 2484.280 0.0001 -
# 3 BXEHA -3 2467.760 0.0001 =
# 4 2XEAH - 4 2472.640 0.0001 -
#5 X415 Adasl o7 412,980 0.0002 -
#6 %}_fﬂégﬁufé? 413.747 0.0006 -
#7 g_g;?d%;gfg; 103.463 0.0006 .
#8 %LAE%%;‘?;SQ » 413.060 0.0006 -
#9 - é‘é;' 251;; 5 410.267 0.0006 e
# 10 wE%vﬁgfg? 410.267 0.0006 -
# 11 ﬂé:f“ﬂégﬁzl?%? 413.953 0.0006 -
# 12 i}gj%;ﬁ?ﬁ;? 186.279 0.0006 -

1EE X H6S 414.047 0.0006 -
s SR 297 HET ' |

# 14 iré:/jil?l; .- 155.268 0.0006 .
#15 %:j%ég;fﬁfﬁ 411.293 0.0006 -
# 16 i},é:f%;é’%fé? 185.082 0.0006 -
#17 E%Ejﬂégﬁfé; 412.107 0.0006 -
# 18 - 5%;545%; 103.027 0.0006 -
#19 i}égjg;'ﬁi”%%; 412.980 0.0006 =
# 20 a@f%:ﬁﬁf@; 103.245 0.0006 -
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